Magnui Fitness Systems
2201 12th Avenue
South Milwaukee Wi. 53172

Description: Glute Extension

Date: 2/7/02 V@u’sﬁ@m 1.9

Ma@hﬁﬁe:

1699




699 ... - . : — version: 1.1
ITEM QUANTITY PART NUMBER DESCRIPTION
A 4 858-107 7" Rubber Boot
B 2 858-334 Rubber Grip
C 2 838-250 Aluminum Grip Cap
D 1 852-205 T-Knob
E 7 850-049 5/16" Plastic Hex Cap
F 10 850-004 2" x 2" Plastic End Cap
G 2 850-010 1 ¥ x 2" Plastic End Cap
H 9 818-105 5/16" Flat Washer
! 7 810-512 5/16"-18 x 3" Hex Head Screw
J 2 810-506 5/16"-18 x 1 2" Hex Head Screw
K 1 817-306 3/8" Nylon Insert Nut
L 1 819-510 Spring Pin
M 1 852-807 Spring Pin Spring
N 1 854-913 1 - 12 Sticker
0] 1 838-726 Chrome Chest Post
P 1 699-001 Upholstery - Chest
Q 1 699-002 Upholstery - Knee
R 2 699-003 Upholstery - Arms
T 2 854-002 Small Magnum logo Sticker

Magnum Fitness Systems
2201 12" Avenue
South Milwaukee, WI 53172
Phone (414) 764-4068
Fax (414) 768-7047




